=1000 100

iy
o
o

&

m

T

0]
(=)
T

a
o
[

<OX> (M
o
S

R I A S R

N
(=]

o

< & X > (Um) tor PV
N
o

e T e e

T SICRC SIS SRR SRS R SR -20

00 60

o q—r::u_u_l::_mu 9_10-0:' ||!|| i |||||!||||
z Ot A
o r o 1l 1 ES i d B S,

5 10 15 20 0 -15-10 -5 0 5 10 15 20 o =is =i = 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

—=— DQM_mkFit_TTbase

—— DQM_mKkFit5_TT_retrainOldFiles125 v2_prelimWP_epoch4

o

o P WO AU S S

<oy > (um) for PV
al
o
7

000

y > for,merged vertices (um)

<0

1500

a 00gE
5 - st
o o 04 L
_E_ 0.5_—

Do=i5=i0 50 5 10 15 20 —20=15-10 -5 0 B 10 15 20 Do =i5=10"=5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

100,

<0 2z>(um) for PV

< 0z > tor merged vertices (um)
=
o
o

ul
o
TT T T[T T T T[T T T T[T T T T[T TTT[TTTT

100

5 1sF 2 & RN B .
o E o [ HIIE
1= 3 H
3 0.5 - e breenbunns :
0.5: : : : : : : ] E oE Tl : , ,
S5 =it =io =5 ¢ & 10 1520 S =15 =10 5 0 5 10 15 20 S =io =5 0 & 1o 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


